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Note:

(1) Figure to the right indicate marks
(2) Log tables will be provided on request.
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(b)

(a)

(b)

(c)

Q-2
(a)

(b),

Define following with examples
() Intersection of two sets (i) Compliment of set

FindK if

K6 5
67 4= 11
T2 1 '

If {x/xs9, xE)N}

A=
B = {y!3<y57 YyEN, ylsanoddnumbcat} ;
C={z/1<z<7,z€N,Ziseven number} then prove that
) A-BUC)=(A- B)ﬂ(A C)
(i) Aﬂ(BUC) (AﬂB)U(AﬂC
OR |

IfA={0,2},B={20,3};C={304};U= {-3,—2,—1,0,1,2,3};then find

() (ANB) ) B (i) (B-C ) (V) (AUBY
If A={56,7};B={58};C={6,8) then Prove that

W AU(BNC)=(AUB)N(AUC)
(i)  AX(B-C)=(AXB) - (AXC)

Solve given equation using Cramer's rule

201} +3(y+1) =15 ; 2(y+3) ~;2(x~2)=

Define following with examplés - |
(N |dentity Matrix ()  Square Matrix

IFA = [2 3] and 2A + B = AZ then find matrix B

@

L% 4

(?’To)




(c)

(a)

(b)

(c)

Q-3
(a)

(b)

(c)

(a)

Solve given equation using inverse matrix

2x+3y =14 ; 2x+2y=-4

 OR

-1 -2 -5 7 3]

A= 2 .3 - B=|3 -1|. C=|l2 1
-1 Ly 5 2 k3 4J

Thenfind (JA+B+C  (i)2A- 3B + C .

-1 '3 5 |
If A= 1 -3 —5| thenfind A?
-1 3 5 |

; 11 1
Find Inverse of A (A" if A= {2 1 3} '
: o 3 2 1

Define Annuity

Siddharth has taken a loan to start a hotel this loan is to be repard in 10

instaliments lof Rs. 1,765,000 at the end of every year . If the rate of

compound interest is 12% then find the amount of the loan.

Priyanka dep03|ted on 1-4-2005 certain amount in co-operative bank at
12% rate ‘of compound interest, interest to be - compounded
(iy Annually (ij) Semi Annually. On 1-4-2011 she receives an aggregate

amount of Rs. 1, 00,000. Find amount deposited for both annually and

semi annually

- OR
lf the rate of interest is 12%, what amount should Mr. Sushant depos:t in
his recurring account in bank in the beginning of every year so that his 5

year old son can receive Rs. 1, 50,000 when he is 25 years old?

Tata Chemicals Limited purchased a machine for Rs. 5 00,000. Its

expected life is 12 years. it is estimated that after 12 years, the pricé of

new machine will cost 60% more. To buy a new machine, it has been
decided to create sinking fund and to invest it at 14% rate of compound
interest. Find the sum to be transferred to the smkmg fund on 31%
December of every year.
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(c)‘ The population of a city at present is 49,949. Which were 35,498 before 7 6
years. Find out the rate of growth of population

Q-4
(a) Define interpolation and Extrapolation. Write its importance and ' 7

Limitations

(b) Find numberiof students getting Marks between 35 and 45 using Newton's 8

Method. -

Marks ] 0-20 2040 4060 [60-80

No of C 115 36 40 10

students '

! OR
(a) Use the following datato.estimateywhenx# | 7
X 1 21 5 7
Ty 10 20 - 60 72

(b) Estimate theipopulatioh,of1_971'and 2001 from following daté. o 8

Year 1951 | 1961 | 1971 | 1981 | 1991 | 2001 | 2011
Population | 11 17 - | 3 A7 | - 75
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Q-1 .
(@) cayual wdl GeleRel Uldd 4
G deowl (i) yrE IR
B} o K65 5
67 4= 11 Sl ALK ofl (Bud e,
121
€ A= {xlx<9 X EN};. | | 6
B ={y/3sys7, VEN, yaﬂ%{w?«u}
={_zl1<z<7,z€N,z‘1ﬂ%{UﬂL}ﬂﬂrﬂ%ﬂ@d&i\
i) A-(BUC)=(A-B)NA-C)
i ANEBUC)=(ANBUANC)
| OR
(2) °81A—{02} B={203};C={304);U= {32 10123}%:&&&1 4
() (AnB) Gy B (i) (B~ C) (!V)(AUB)‘
5

() @ A={567):B={58:C={68 & d WA s

O AY(BNC)=(AUBNAUC)
i) AX(B-C)=(AXB) - (AXO)
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() oA wa llsRetel B unell Gl ' 6

2(x-1) + 3(y+1) =15 ;1 2(y+3) - 2(x-2) = 6

Q-2

(35_ cai vl #mﬂ Gelorel Aldct a 4
0] agu ARs . ) Wy AEls

S A=[i o] A 24+B=A" 32 A AR B A | | B

© o e whsead ceird ABs ol uee ol G | 6

2x+3y=14.; -2x+2y=—-4

OR

(a) 4 -1 -2 5 7 3
%N A=} 2 3 B=] 3 -1 C={-2 1]8aaA
- 5 2 -3 4

A [(HA4B+C (i) 24- 3B +C

(h) -1 3 5] E 5
Al A=| 1 -3 -5 &ad Az,
-1 3 5
(c) 1 1 1 6
' N A= {2 1 3] a3 4 Al .
: 32 01
Q-3
@ aqulyet W, | 4

(b} Rl 8 Aol bt ol yRe 23 520l w5 283 o let el D, w5
Aot AR €2 oA ot 20 Rs. 1,75,000 oll 10 slgczl Ml Uct JRelell B,
| callos ol £2 s 12 &2 A ol ol 25 AL,

o)




(a)

(b)

©)

Q-4

(a)

(b)

[eisl 1-4-2005 ol A viys 2w ols 1l 12 25l oll €2 UsqR AR
ol 5208 B, el (1) s iy o HRls WA otel M g & AL,
1-4-2011 olt A% Pu'ﬂ Rs. 1, 00,000 5H URd HA B. cﬂ ML el
wiaell 25 20t

CR

yallet el ol YA glet 5 il ol B, %R yatoll Gu2 25 o oll Rl c?-{&

AA Rs.1,50,000 Hofl 23 A W@ Eh{ﬂ g2 il ol gl Wi 12% -l £2

secll BH o ol PsBFol vl 1l ol s2cll led?

212l 3Bsct A Rs. 5, 00,000 ol Buc of As oot sy . 2o 12 oy ol
Gualofl ynaL ot A wile Bucd 52l 60% oy s ysadl usd
Al wRe B g ot aral ¥Rl Ass: uoll 28l A & &l €2 Al 31
B2 ol A% 045 /U Rl s WA A8 walle] vet def 12% £
ALl 52clle] otsdl ol e, €2 ol @B §s wid-ad oellell 251
a1el. '

Ay Adell sletell arel 49949 B, 7 ol UG A 35498 &ell Al w

gd20ll cacdl a2l cuftls €2 20kl

2ici2elel UA W delal WA Bal dof Haeel wa Halell vl

o3f2ot um[aaﬂ 35 il 45 < JRL Haoelell [amz[[u'&aﬂ dvell A

2 020 20-40 40-60 | 60-80
Raneleloll |15 35 40 10

Ayl

OR

@ | (FT0)

[=-28




(8)  wle fes @l Y Bud 9 s x=4 82,
i

X

1

10

2
20

y_ .

() 1971 and 2001 et Hi cteell oLl <Al

1

qﬂ -1 1951

1961

17

ad | 1




